
Lecture 11 - February 11

Arrays and Linked Lists

SLL: removeFirst, addLast
SLL: getNodeAt, insertAt



Announcements/Reminders

• ProgTest1 guide & example questions to be released
• splitArrayHarder: solution and tutorial video released
• Assignment 2 (on SLL) released
+ Required studies: Generics in Java (Slides 33 — 36)
+ Recommended studies: extra SLL problems

• Assignment 1 solution released
• Lecture notes template, Office Hours, TA Contact



SLL Operation: Inserting to the Front of the List

Q. Does tail or size need to be updated?
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SLL Operation (sketch): Removing the First Node

void removeFirst()

Boundary Cases?
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SLL Operation (sketch): Adding a Last Node

void addLast(String e)

Boundary Cases?
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Trace: list.getNodeAt(2)
current   index  index < 2  Start of Iteration

SLL Operation: Accessing the Middle of the List

Q. Does tail or size need to be updated?
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Idea of Inserting a Node at index i

Case: addAt(i, e), where 0 < i ≤ size
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SLL Operation: Inserting to the Middle of the List

size

tail

Q. Does tail or size need to be updated?
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